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KMnO,  FeSO, 5 \i\“\ (647)
MnO,”+5Fe*" +8H' =Mn*' +5Fe** +4H;0 (343)
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20. (18%) \\)
1o s | (64)
(2) O HS (443)
=1 ke
(3) S+0, =80, 280,+0, = SO, (441)
Pzt
(4) 2H,8$+0, = 2H,0+28
P
2H,S+30, = 2H,0+2S0, (443)
21. (1841)
Cl, KC10 KC1 KC10, 0, K.S0, (% 3 4, 3£ 18 4)
= (K& 12 4)
22. (1243)
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(1) NH, BEdh[Eg “ C(NH,) S0, (NH,) 0O i) —Fhal ™ ) (441)
(2) (NH,),SO,FIBaCl, (441)
(3) (NH,),S0,+BaCl,=BaS0, + +2NH,CI (447)
4. (452 18 41)
23. (1841)
(1) A: CH,CHO B: CH,CO0C.H;
C: CH,CO0H D: CH,CH,OH
(124+)

(2) CH,CHO+2Ag(NH,),0H—=—»CH,COONH, +2Ag { +3NH, +H,0 (34}

(3)  CH,CH,OH—=%25CH, =CH, T+H,0 (343
i (R 8 4, HER—E)
24. (847) "‘\}
; N
g, 1000mLxldg-mLix065_ . &
63g-mol™ x1L >

F
25 N, () BN 3%m““&m“¢’§ﬁb

14mol - mol~ ], . \)
25. (841) \@g

ﬁ=uiﬁﬁw¢ﬁﬁﬂmmﬁ;’
2H,0(1) = 2H,0(g) = AH, +AH, =87.8kJ -mol™

1K OBREE Jy K T A .
87.8kJ
2x18

=2.44k]

75 (& 104y, Ef—&)

26. (109)
RESAENEDRFEAENRN

2241
n(CH,)+n(C,H,)+n(C,H, )= m =0.100mol
A RCHICO, BP0 o B B R

n(CO, )=n(CH, }+2n(C,H, }+2n(C,H, )=0.100mol x 1.80=0.180mol

A RCH, 089 B B R -
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n(H,0)=2n(CH, }+2n(C,H, }+3n(C,H,)=— % _ —0.235mol
18g -mol™

#% n(CH) = x mol, n(CH) =y mol, n(CH) = z mol

x+y+z=0.100 x =0.020mol
M x+2y+22=0.180 B2 131 y=10045mol
2x+2y+32=0235 z=0.035mol

Bin(CH,) = 0.020 mol
n(CH,) = 0.045mol
n(CHy) = 0.035 mol

27. (10%4)
R EEFEIUACN,, T4
C,N, +x0, = %NI +xCO0, ~ =

1 X L X i &
2 Y7
0. 5L 0.5L 1L \(@

ﬁ-Zﬁ: =2 y= 2 1 }g.
BLHCN, #1E 2 70N, ﬂﬁiﬁﬁﬁt}yg%ﬁsﬁﬁﬁh
C.N,+20, = N,+2€0, \

A
>§§%

e LS E PO 3 Mhk: http://www. pkuzyw. com



